C:# Multiplication Word Problems Name:

Solve each problem. Answers
1) Paul was unpacking boxes of ornaments. If he has seventy-nine boxes with twenty-one
ornaments in each box, how many ornaments does he have all together? 1
2,
2) Vanessa had forty-six shelves of DV Ds. If each shelf had fifty-six movies on it, how many
movies did she have total ?
3.

3) Atthecarnival there are twenty-eight students selling tickets. If each student sellseighty- || 4.
nine tickets, how many tickets would be sold all together?

5.
4) There are seventy-one pieces of popcorn in asmall bag. If amovie theater sells twenty-
three small bags, how many pieces of popcorn would they have sold? 6.
7.
5) Anairplane compartment can hold sixty-three pieces of luggage. If asmall plane had
thirty-three compartments, how many pieces of luggage could they hold?
8.
6) A toy store sold fifty-five video gamesin one day. If each game cost forty-eight dollars, )
how much money did they make?
10.
7) An orchard owner was counting the number of apples he had total. Each of his twenty-five
trees had twenty-nine applesin it. How many apples did he have total ? 11.
12.

8) Billy was placing his spare change into stacks. Each stack had twenty-six coins. If he had
eighty stacks, how many coins did he have all together?

9) There were twenty-seven peoplein line waiting for concert tickets. If each of the tickets
costs forty-eight dollars, how much money would be spent?

10) Rachel was drawing on scrap paper. She could fit fifty-three drawings on each page. If she
has sixty-five pieces of paper, how many drawings can she make?

11) A movie theater has fifty-four rows of seats. If each row has nineteen seatsin it, how many
seats does the theater have total ?

12) A pet store sold eighty-five puppiesin one week. If each of the puppies cost forty-nine
dollars, how much money would they have made?
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Ch Multiplication Word Problems Name: Answer Key

Solve each problem. Answers
1) Paul was unpacking boxes of ornaments. If he has seventy-nine boxes with twenty-one
ornaments in each box, how many ornaments does he have all together? 1 1,659
2. 2,576

2) Vanessa had forty-six shelves of DV Ds. If each shelf had fifty-six movies on it, how many
movies did she have total ?

3. 2,492
3) Atthecarnival there are twenty-eight students selling tickets. If each student sellseighty- || 4. 1,633
nine tickets, how many tickets would be sold all together?
5, 2,079
4) There are seventy-one pieces of popcorn in asmall bag. If amovie theater sells twenty-
three small bags, how many pieces of popcorn would they have sold? 6. 2,640
7. 725
5) Anairplane compartment can hold sixty-three pieces of luggage. If asmall plane had
thirty-three compartments, how many pieces of luggage could they hold? 2 080
8. ,
6) A toy store sold fifty-five video gamesin one day. If each game cost forty-eight dollars, 0. 1,296
how much money did they make?
10. 31445
7) An orchard owner was counting the number of apples he had total. Each of his twenty-five
trees had twenty-nine applesin it. How many apples did he have total ? 11. 1,026
12. 4,165

8) Billy was placing his spare change into stacks. Each stack had twenty-six coins. If he had
eighty stacks, how many coins did he have all together?

9) There were twenty-seven peoplein line waiting for concert tickets. If each of the tickets
costs forty-eight dollars, how much money would be spent?

10) Rachel was drawing on scrap paper. She could fit fifty-three drawings on each page. If she
has sixty-five pieces of paper, how many drawings can she make?

11) A movie theater has fifty-four rows of seats. If each row has nineteen seatsin it, how many
seats does the theater have total ?

12) A pet store sold eighty-five puppiesin one week. If each of the puppies cost forty-nine
dollars, how much money would they have made?
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